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i pih 15 6-10 79-9.6 i
FMEE (mg) 100 <20 fﬁ
B R YR8 B (mg/l) 10 <l I
MR VIR (gl 2000 340 - 1543 2
Wi E (mg) 10 <0.5-16 =
ALY E (my) 0.1 <0.04 2
(mg/) 100 <15-21 =
Mg (me) 20 <15 =
MHEE  (mg) 0.5 <0.3 it
AR EMEE (mg) ] <0.6 =
KMEEER (mgh) 15 <3 =
HRBE (mg/) 200 54-120 &
BE (O 43 20-27 b
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i (mg/) 2 <0.4 b
| (meh) 5 <1 yiss
#@  (mg/h 0.1 <0.1 yass
& (mg/l) 1 <0.3 yass
#  (mg/l) 2 <0.5 =
2y (mg/) 2 <1 =
# (mg/) 5 <0.2 pi=s
7 (mg/) 0.05 <0.05 yiss
$/ (mg/) 2 <l-1.7 yiss
R (mg/) 2 <0.4 =
P (mg/) 5 <l e
FF (mg/h) 2 <l pies
HHEBEES

(mg/l) 10 <7.0-76 =
M (mgh) 5 <1-33 pi=s
# (mg/D) 10 <2 yass
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Aldrin (mg/h) 0.01 <0.01 yiss
BHCS (mg/l) 0.01 <0.01 A
WA Z 5t (mgh) 0.01 <0.01 A=
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K (mg) 0.1 <0.1 A
A RIS/

LLI-Z& 245 pEs
(mg/l) 0.05 <0.05
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(mg/l) 0.003 <0.003
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(pc/D) 10000 <10000

#%-226 (pc/l) 30 <30 =
$8-90 (pc/D 100 <100 =
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Rz (mg/m)) 75
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(mg/m’) 100
MEHREY
(LA a1k & & & 3t
H) (mg/m’) 25
Fe B (LATE BE 31 8
(mg/m’) 100
ZE AR (mg/mD) 750 -
B S (mg/m’) 38
BE R E (DIBEEFE)
(mg/m’) 7.5
A& (mg/m’) 7.5
RIALE (mg/m’) 7.5
FEHE 8B (8 —
) :
K (mg/m’) 3
88 (mg/m’) 3
# (mg/m’) 3
FEHEsB (8 =
¥) :
£y (mg/m’) 10
#  (mg/m’) 10
B (mg/m’) 10
$8 (mg/m") 10
$& (mg/m’) 10
BB _HEESH
% B W E (mg/m”) 10
TEEZE (ng/m) 0.1
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$a (ppm) 0.5 <0.5 E
K (ppm) 0.1 <0.02 his
R E (ppm) 10 <0.5 P
# (ppm) - <0.5-6.5
#% (ppm) - <0.5
# (ppm) - <1-73
5% (ppm) - <0.5-34
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# (ppm) 20 <1 yats
Fife¥ (ppm) 10 <5 =
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